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What approximate  value should come in the place of question mark(?)in the following 
questions?

Q.1:- 31526.994 ÷ ? = 64.03

(A)1360.2 (B)1358.6 (C )1360.8 (D)1356.5 (E)None of these

What value should come in the place of question mark(?)in the following questions?

HW 123 × 12 − 144% of 80 = ?
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What approximate  value should come in the place of question mark(?)in the following 
questions?

Q.1:- 31526.994 ÷ ? = 64.03

(A)27 (B)15 (C )29 (D)8 (E)None of these

What value should come in the place of question mark(?)in the following questions?

³√157464 ÷ √ 324 = ?
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What value should come in the place of question mark(?)in the following questions?

480 / ?  = 𝟏𝟐 × 4 − 2³ 

(A)16 (B)19 (C)12 (D)8 (E)None of these
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What value should come in the place of question mark(?)in the following questions?

22² +𝟔³ = ?+3𝟑7 

(A)363 (B)330 (C)324 (D)343 (E)None of these
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What value should come in the place of question mark(?)in the following questions?

𝟏4 × 24 - ? ×5 = 23×7

(A)35 (B)45 (C)55 (D)85 (E)None of these
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What value should come in the place of question mark(?)in the following questions?

Q.2:- ?÷ 0.5 × 12 = 2244

(A) 480 (B)476 (C) 436 (D)466 (E)None of these

What value should come in the place of question mark(?)in the following questions?

220 ÷ 5 × 12 + 320 = ? + 412
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What value should come in the place of question mark(?)in the following questions?

Q.2:- ?÷ 0.5 × 12 = 2244

(A)574 (B)584 (C)484 (D)474 (E)None of these

What value should come in the place of question mark(?)in the following questions?

390 + 345 + 249 − 824 + 324 = ?
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What value should come in the place of question mark(?)in the following questions?

Q.2:- ?÷ 0.5 × 12 = 2244

(A)2158 (B)2258 (C)2318 (D) 2058 (E)None of these

What value should come in the place of question mark(?)in the following questions?

13³ + 1640 ÷ 8 − 12² = ?
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What value should come in the place of question mark(?)in the following questions?

Q.2:- ?÷ 0.5 × 12 = 2244

(A)340 (B)360 (C)440 (D) 460 (E)None of these

What value should come in the place of question mark(?)in the following questions?

2460 ÷ 3 ÷ 4 + 135= ?
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What value should come in the place of question mark(?)in the following questions?

Q.2:- ?÷ 0.5 × 12 = 2244

(A)1610 (B)1708 (C)1710 (D)1608 (E)None of these

What value should come in the place of question mark(?)in the following questions?

32 × 38 + 24² − 552 ÷ 3= ?
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What should come at place of the question mark (?) in the following number series ?

1. 27 , 50 , 192 , 1140 , 9104 , ?

(A)90400 (B)91020 (C)92040 (D)94060 (E)96080
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What should come at place of the question mark (?) in the following number series ?

2 . 4, 7 , 13 , 23 , 38 , 59, ? 

(A)72 (B)80 (C)87 (D)95 (E)None of these
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What should come at place of the question mark (?) in the following number series ?

3. 2 , 12 , 36, 80 , ? , 252 , 392

(A)80 (B)100 (C)120 (D)150 (E)None of these
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What should come at place of the question mark (?) in the following number series ?

4. 6 , 11 , 32 , 111 , 464 , ?

(A)2345 (B)2475 (C)2525 (D)3050 (E)2640
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What should come at place of the question mark (?) in the following number series ?

5. 2 , 6 , 33 , 49 , 174 , 210, ?

(A)275 (B)387 (C)464 (D)553 (E)495

E04613

http://www.mahendras.org/


1FOR MORE DISCOUNT VISIT www.mahendras.org & USE PROMO CODE : E04613

Class Time :- 9:00 AM

Directions (Q. 26-30):Direction for Question

Following table shows the number of items (in thousands) produced by four different 

companies (P, Q, R and S) and the ratio of sold(S) to unsold (US) items among them. 

निम्ननिखित तानिका चार अिग-अिग कंपनिय ं (P, Q, R और S) द्वारा उत्पानित वसु्तओं की संख्या

(हजार ं में) नििाती है और उिमें से बेची गई (S) से बेची गई (US) वसु्तओं का अिुपात है।

Company P Q R S

Year Total S:US Total S:US Total S:US Total S:US

2010 450 2:3 640 5:3 420 4:3 500 3:2

2011 540 5:4 705 3:2 495 4:6 527 8:9

2012 140 2:3 770 5:6 510 9:8 564 1:1

2013 250 3:7 864 5:3 540 1:2 510 2:1

2014 850 8:9 1020 8:9 660 6:5 605 2:3

2015 480 5:3 819 5:4 668 5:3 620 3:2
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Q.26 :-The number of items sold by Company S in the year 2012 is what percentage of the 
number of items which remain unsold by Company S in the year 2010? 
वर्ष 2012 में कंपिी S द्वारा बेची गई वसु्तओं की संख्या, वर्ष 2010 में कंपिी S द्वारा नबिा नबके रह
गई वसु्तओं की संख्या का नकतिा प्रनतशत है?

(A)158% (B) 187% (C)122% (D)124% (E)141%

Company P Q R S

Year Total S:US Total S:US Total S:US Total S:US

2010 450 2:3 640 5:3 420 4:3 500 3:2

2011 540 5:4 705 3:2 495 4:6 527 8:9

2012 140 2:3 770 5:6 510 9:8 564 1:1

2013 250 3:7 864 5:3 540 1:2 510 2:1

2014 850 8:9 1020 8:9 660 6:5 605 2:3

2015 480 5:3 819 5:4 668 5:3 620 3:2
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(A)545 (B)554 (C)567 (D)575 (E)590

Q.27 :-What is the approximate average number of items produced by Company S in all six 
years (in thousands)?
सभी छः वर्ों (हजार ं में) में कंपिी S द्वारा उत्पानित वसु्तओं की अिुमानित औसत संख्या नकतिी
है?

Company P Q R S

Year Total S:US Total S:US Total S:US Total S:US

2010 450 2:3 640 5:3 420 4:3 500 3:2

2011 540 5:4 705 3:2 495 4:6 527 8:9

2012 140 2:3 770 5:6 510 9:8 564 1:1

2013 250 3:7 864 5:3 540 1:2 510 2:1

2014 850 8:9 1020 8:9 660 6:5 605 2:3

2015 480 5:3 819 5:4 668 5:3 620 3:2
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(A)242000 (B)256000 (C)263000 (D)275000 (E)None of these

Q.28:- What is the difference between the total items sold and the total items that remain 
unsold by Company S in all six years together?
सभी छह वर्ों में एक साथ बेची गई कुि वसु्तओं और कंपिी S द्वारा नबिा नबकी हुई कुि वसु्तओं
के बीच का अंतर नकतिा है?

Company P Q R S

Year Total S:US Total S:US Total S:US Total S:US

2010 450 2:3 640 5:3 420 4:3 500 3:2

2011 540 5:4 705 3:2 495 4:6 527 8:9

2012 140 2:3 770 5:6 510 9:8 564 1:1

2013 250 3:7 864 5:3 540 1:2 510 2:1

2014 850 8:9 1020 8:9 660 6:5 605 2:3

2015 480 5:3 819 5:4 668 5:3 620 3:2
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(A)26% (B)24% (C)38% (D)34% (E)48%

Q.29 :- he number of items which remain unsold by Company R in 2014 is approximately 
what percentage more or less than the number of items which are sold by Company Q in the 
year 2015?
2014 में कंपिी R द्वारा बेची गई वसु्तओं की संख्या, वर्ष 2015 में कंपिी Q द्वारा बेची गई वसु्तओं
की संख्या से िगभग नकतिे प्रनतशत अनिक या कम है?

Company P Q R S

Year Total S:US Total S:US Total S:US Total S:US

2010 450 2:3 640 5:3 420 4:3 500 3:2

2011 540 5:4 705 3:2 495 4:6 527 8:9

2012 140 2:3 770 5:6 510 9:8 564 1:1

2013 250 3:7 864 5:3 540 1:2 510 2:1

2014 850 8:9 1020 8:9 660 6:5 605 2:3

2015 480 5:3 819 5:4 668 5:3 620 3:2
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(A)1684 (B)1716 (C)1432 (D)1311 (E)None of these

Q.30 :- What is the number of items sold by Company P in all six years together? (in 
thousands)
कंपिी P द्वारा सभी छह वर्ों में बेची गई वसु्तओं की संख्या नकतिी है? (हजार ं की संख्या में )

Company P Q R S

Year Total S:US Total S:US Total S:US Total S:US

2010 450 2:3 640 5:3 420 4:3 500 3:2

2011 540 5:4 705 3:2 495 4:6 527 8:9

2012 140 2:3 770 5:6 510 9:8 564 1:1

2013 250 3:7 864 5:3 540 1:2 510 2:1

2014 850 8:9 1020 8:9 660 6:5 605 2:3

2015 480 5:3 819 5:4 668 5:3 620 3:2
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Direction (31 to 35 ):- In each question two equations numbered (I) and (II) are 
given. You have to solve both the equations and mark appropriate answer.

(a) If x > y 

(b) If x < y 

(c) If x ≥ y 

(d) If x ≤ y

(e) x = y or no relation can be established 

E04613
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Q.21 :- I. x2 +9x + 20=0                           II.  y2 +7y +12=0

Q.22 :- I. x2 +91 =20x                               II.  10y2 −29 y+21 = 0

Q.23 :- I. x³−8 = 0 II. y³ +8 = 0

Q.24 :- I. x² −14x + 48 =0 II. y2 + 6 = 5y

Q.25 :- I. 6x2 +13x +5 =0 II. 9y ² + 22y +8 =0

E04613
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(A)52 (B)48 (C)80 (D)60 (E)None of these

23 . of the four numbers, whose average is 60, the first is one-fourth of the sum of the last 
three. The second number is one-third of the sum of other three, and the third is half of the 
other three. Find the fourth number. 
चार संख्याओ का औसत 60 है। पहिी संख्या अंनतम तीि संख्याओं के य ग का एक चौथाई है।
िूसरी संख्या अन्य तीि संख्याओ के य ग का एक नतहाई है। तथा तीसरी संख्या अन्य तीि के य ग
का आिा है। चौथी संख्या ज्ञात कर ?

E04613
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(A)25:36: 65 (B) 20: 16: 65 (C) 25 : 26: 35 (D) 25: 16 :55 (E)None of these

24. The salaries of X, Y, Z are in the ratio 2: 3: 5. If increment of 25%, 20% and 30% are 
allowed respectively in their salaries, then what will be the new ratio of their salaries? 
X, Y तथा Z की आय का अिुपात 2: 3: 5 है। यनि उिकी आय क्रमशः 25%, 20% तथा 30% से
बढा िी जाए त अब उिकी आय का अिुपात क्या ह गा?
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What value should come in the place of question mark(?)in the following questions?

Q.2:- ?÷ 0.5 × 12 = 2244

(A) 12 (B)7 (C)10 (D)15 (E)None of these

6 . Ratio of age of father, mother and son is 9:8:3. Five years hence sum of their age will be 95 years. 
Find the age of son 5 years ago. नपता, मां और पुत्र की आयु का अिुपात 9: 8: 3 है पांच वर्ष पश्चात
उिकी आयु का य ग 95 वर्ष ह गा। 5 वर्ष पहिे पुत्र की आयु ज्ञात कीनजये।
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(A)25 (B)64 (C)9 (D)36 (E)None of these

E04613

7. A committee of 5 members is to be formed out of 4 Lawyers, 3 Engineers and 2 Doctors. 
In how many ways a committee of 2 Lawyers, 2 Engineers and 1 Doctor can be formed ? 4 
वकीि, 3 इंजीनियर और 2 डॉक्टर में से 5 सिस् ंकी एक सनमनत बिािी है । 2 वकीि, 2 
इंजीनियर और 1 डॉक्टर की सनमनत नकतिे तरीक ं से बिाई जा सकती है ?
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What value should come in the place of question mark(?)in the following questions?

Q.2:- ?÷ 0.5 × 12 = 2244

(A) 2256.18 (B)2019.38 (C)2421.09 (D) 2421.09 (E)2615.08

8 . What will be compound interest on an amount of Rs.8400 at the rate of 13.5 p.c.p.a after 2 
years?
रू.8400 की रानश पर 13.5 प्र.श.प्र.व. की िर से 2 वर्ष के अंत में उपनचत चक्रवृखि ब्याज क्या
ह गा?
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(A)90 (B)70 (C)80 (D)60 (E)85

9. In an examination, Sweta scored 25 marks less than Shagun. Shagun scored 45 more marks than Anushika. Aastha 
scored 75 marks which is 10 more than Anushika. Neha's score is 50 less than, max marks of the test. What approximate 
percentage of marks did Neha score in the examination, if she gets 34 marks more than Sweta?
एक परीक्षा में, शे्वता, शगुि से 25 अंक कम प्राप्त करती है। शगुि, अिुनशका से 45 अंक अनिक
प्राप्त करती है। आस्था 75 अंक प्राप्त करती है ज नक अिुनशका से 10 अनिक है। िेहा का स्क र
टेस्ट के अनिकतम अंक ं से 50 कम है। परीक्षा में िेहा िे िगभग नकतिे प्रनतशत अंक प्राप्त नकये
यनि वह शे्वता से 34 अंक अनिक प्राप्त करती है?

E04613
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(A)162 (B)160 (C)172 (D)164 (E)None of these

10 . A man sold a book at a profit of 10%. if he had charged Rs.45 more, his profit percentage would 
have been 25%. Find the value of x if the average of C.P., 52 and x is 172. 
एक आिमी एक नकताब क 10% के िाभ पर बेचता है, यनि वह 45 रु. अनिक चाजष करता त 
उसका िाभ प्रनतशत 25% ह जाता | X का माि ज्ञात कीनजये यनि क्रय मूल्य, 52 और x का
औसत 172 है|
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(A)52000 (B)54000 (C)36000 (D)42500 (E)CND

22. Cost price of two laptops is same. One is sold at a profit of 15% and the other for Rs. 
5200 more than the first. If the net profit is 20% then find the cost price of each laptop?
ि िैपटॉप का क्रयमूल्य समाि है। नजिमे से एक क 15% की िाभ पर और िूसरे क पहिे से
5200 ज्यािा में बेचा जाता है। यनि उसका कुि िाभ 20% ह तब िैपटॉप का क्रय मूल्य ज्ञात कर ?
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